
 

1) Given that 
𝑌 = 𝑐(𝑑 + 𝑒) 

where, 
𝑐 = 6.8 correct to 1 decimal place 
𝑑 = 4 correct to 1 significant figure 
𝑒 = 30 correct to the nearest 5 
 
Work out the lower bound for the value of 𝑌. 
 
 
 
2) Given that 

                     𝑁 =
௚ି௛

ଶ
 

where, 
𝑔 = 5.6 correct to 2 significant figures 
ℎ = 0.4 correct to 1 decimal place 
 
Work out the upper bound for the value of 𝑁. 
 
 
 
3) Given that 
                                         𝑋 = 𝑘 − 2𝑙 
where, 
𝑘 = 20.34 correct to 2 decimal places 
𝑙 = 3 correct to the nearest unit 
 
Work out the lower bound for the value of 𝑋. 
 
 
 
4) Given that 

                        𝑍 =
ଶ௧ି௨

௩
 

where, 
𝑡 = 7.8 correct to 1 decimal place 
𝑢 = 3.50 correct to 2 decimal places 
𝑣 = 2 correct to one significant figure 
 
Work out the upper bound for the value of 𝑍. 
Give your answer to 2 decimal places. 
 

5) Given that 

                    𝐶 = 𝑥ଶ +
௬

௭
 

where, 
𝑥 = 4.3 correct to 1 decimal place 
𝑦 = 25.6 correct to 3 significant figures 
𝑧 = 5 correct to the nearest unit 
 
Work out the upper bound for the value of 𝐶. 
 

               

6) Given that         𝑅 =
௝

௠ି௡
 

𝑗 = 42 correct to 2 significant figures 
𝑚 = 3.10 correct to 2 decimal places 
𝑛 = 0.4 correct to 1 significant figure 
 
Work out the lower bound for the value of 𝑅. 
Give your answer to 3 significant figures. 
 
 
 

7) Given that      𝑇 = 𝑎 ቀ𝑏 +
௖య

ଶ
ቁ  

𝑎 = 5.4 correct to 1 decimal place 
𝑏 = 30 correct to 2 significant figures 
𝑐 = 1.45 correct to 2 decimal places 
 
Work out the upper bound of 𝑇. 
Give your answer to 2 decimal places. 
 
 
 
8) Given that     𝐷 = 𝑎 −

௕

௖
  

𝑎 = 6.45 correct to 2 decimal places 
𝑏 = 1.9 correct to 1 decimal place 
𝑐 = 9 correct to the nearest 5 
 
Work out the upper bound of 𝐷. 
Give your answer to 2 decimal places. 
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